

$$3y - 4 = 2x + 3 \text{ and}$$

$$y - 5 = x + 6$$

sol

$$\text{let } C = 3y - 4 = 2x + 3$$

$$\frac{3dy}{dx} - 0 = 2 + 0$$

$$3 \frac{dy}{dx} = 2$$

$$\frac{dy}{dx} = \frac{2}{3}$$

$$\text{let } G = y - 5 = x + 6$$

$$\frac{dy}{dx} - 0 = 1 + 0$$

$$\frac{dy}{dx} = 1$$

$\therefore C$  is not perpendicular

to G

i.e.  $3y - 4 = 2x + 3$  is not

perpendicular to

$$y - 5 = x + 6$$

$$\textcircled{2} \quad x^2 + y^2 + 3y - 11 = 0 \text{ at } (1, 2)$$

$$2x + 2y \frac{dy}{dx} + 3 \left( x \frac{dy}{dx} + y \cdot 1 \right) - 0 = 0$$

$$2x + 2y \frac{dy}{dx} + 3x \frac{dy}{dx} + 3y = 0$$

$$2y \frac{dy}{dx} + 3x \frac{dy}{dx} = -2x - 3y$$

$$\frac{dy}{dx} = \frac{-2x - 3y}{2y + 3x}$$

$$m = \frac{dy}{dx} = \frac{-(2x + 3y)}{2y + 3x}$$

when  $x=1$  and  $y=2$

$$m = \frac{-(2(1) + 3(2))}{2(2) + 3(1)}$$

$$= \frac{-(2+6)}{4+3} = \frac{-8}{7}$$

$$m = \frac{-8}{7}$$

$$3 \frac{dy}{dn} + 1 = 0$$

$$\frac{dy}{dn} = -\frac{1}{3}$$

A is perpendicular to B

i.e.  $y - 2n - 2 = 0$  is perpendicular to  $3y + n + 9 = 0$

Math 104

Equation of the tangent to the curve

$$y_2 - y_1 = m(x_2 - x_1)$$

$$y - 2 = -\frac{8}{7}(n - 1)$$

$$y - 2 = -\frac{8n}{7} + \frac{8}{7}$$

$$7y - 14 = -8n + 8$$

$$8n + 7y - 14 - 8 = 0$$

$$8n + 7y - 22 = 0$$

Equation of the normal to the curve

$$y_2 - y_1 = -\frac{1}{m}(x_2 - x_1)$$

$$y - 2 = -\frac{1}{-\frac{8}{7}}(n - 1)$$

$$y - 2 = \frac{7}{8}(n - 1)$$

$$y - 2 = \frac{7n}{8} - \frac{7}{8}$$

$$8y - 16 = 7n - 7$$

$$8y = 7n - 7 + 16$$

$$7n - 8y + 9 = 0$$

JIMOH FARIDAH QUANTIFICATION

Examine whether or not these pair of lines are perpendicular to each other

$$\Rightarrow y - 3n - 2 = 0 \quad \downarrow \quad 3y + n + 9 = 0$$

$$\Rightarrow 3y - 4 = 2n + 3 \quad \downarrow \quad y - 5 = n + 6$$

2) find the equations of the tangent and normal to the curve  $x^2 + y^2 + 3ny - 11 = 0$  at the point  $n = 1, y = 2$

solution

$$y - 3n - 2 = 0 \quad \downarrow \quad 3y + n + 9 = 0$$

$$\text{let } a = y - 3n - 2 = 0$$

$$\frac{dy}{dn} = \frac{dy}{dn} - 3 - 0 = 0$$

$$\frac{dy}{dn} - 3 = 0$$

$$\frac{dy}{dn} = 3$$

$$\text{let } B = 3y + n + 9 = 0$$

$$3 \frac{dy}{dn} + 1 + 0 = 0$$